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Shade (or black out) cells so that there are no duplicate numbers in each
row and column. Shaded (eliminated) cells may not be horizontally and 
vertically adjacent.  The remaining white cells must form a single 
component and not be isolated.

12 by 12 Hitori (no. 12) 

and

1212 N0. 12

1
11
3
7
5
3
6

12
7
3
8
6

10
9

11
2
7
5
9

10
12
5
3
8

12
4
3
5

10
4

11
2
7
5
8
6

7
6

12
4

11
8

10
12
11
6
7
5

5
9

10
12
4
3

12
10
1

11
2
9

2
8
5
9
1

12
4
2
8
5
1

11

5
2
7
5
9

10
12
4
3
8

10
1

7
5
4
6
7
4
6
8
7
1
7
2

6
8

10
7

11
2
7

10
9
6

12
9

4
3
1

10
1

11
10
7
3
9
6

12

6
10
4
2
8

10
1

11
2
7
1
9

1
10
1

11
2
4
5
2
6

11
4
3



copyright:    www.puzzlesandbrains.com

answers

1212 N0. 12

1
11
3
7
5
3
6

12
7
3
8
6

10
9

11
2
7
5
9

10
12
5
3
8

12
4
3
5

10
4

11
2
7
5
8
6

7
6

12
4

11
8

10
12
11
6
7
5

5
9

10
12
4
3

12
10
1

11
2
9

2
8
5
9
1

12
4
2
8
5
1

11

5
2
7
5
9

10
12
4
3
8

10
1

7
5
4
6
7
4
6
8
7
1
7
2

6
8

10
7

11
2
7

10
9
6

12
9

4
3
1

10
1

11
10
7
3
9
6

12

6
10
4
2
8

10
1

11
2
7
1
9

1
10
1

11
2
4
5
2
6

11
4
3


